2A:

EZH:

(UIIEPNPSEST,
HIUX AHSH(AMY - SA01Y
ATHAOUEX e & 28

ENVEPNVIGTEDNE NP =)

=t (EHl: &9
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Ol X1 & 24 77,281,845 102,324,804 N25,042,959
= 53,940,647
[ 342,400
Jl 3,046,827
[ 19,951,971
SHH:III MASH(MY - SAISLOUR/OIHXI L A2 66,856,126 86,515,889 19,659,763
= 53,940,647
= 342,400
) 609,100
= 11,963,979
ATHENMUX W € 25 3,936,323 5,911,424 1,975,101
[ 342,400
Jl 609, 100
< 2,984,823
HHxIgs =a 5,428 4,640 788
202 04dl 5,428 4,640 788
01 2L AL 5,428 4,640 788
OuUHXNIER HRFA 5,308
SRA 2EMSHAL Z0 XA 120
ATHAU UK A A2 2e| =2 50,000 45,500 4,500
201 el 50,000 45,500 4,500
01 At2tlt] 20,000 17,500 2,500
OLIHHU UK EAIZ 24 20,000
2 s5=34l 30,000 28,000 2,000
OAMMHANHXIEAIZ E52= 30,000
AITHANUH X Al 2tel 759,429 904,000 A144,571
201 er= 3| 749,629 895,000 145,371
01 AtR2te|HI 35,000 35,000 0
OLHHUUH X XX 2S 36,000
2 S52g4l 714,629 860,000 145,371
OXTHHNIU X EHEHX SE2= 58,000
OLITH MO Xl MR FHEE - H2F =
Al2el 89 656,629
202 048l 9,800 9,000 800
01 2L AL 9,800 9,000 800
OXTHHOIL X HRFE 9,800
KUK AIEEZAS (21) 342,400 40,000 302,400
[ 342,400
403 MR HHMSAHE01H 342,400 40,000 302,400
[ 342,400
01 AXISHHA=2EE 342,400 40,000 302,400
OXIF0UHXIES A2 A 342,400
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2A:

EZH:

(
ATHAOUEX e & 28

(UIIEPNPSEST,

OIUX MEFE(MY - S0
Q

ENVEPNVIGTEDNE NP =)

=t (EHl: &9
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| = 342,400
FAHE OUHA SXAIS(=1) 694,600 665,400 29,200
Jl 609,100
= 85,500
403 THXISHMSAH=01H 694,600 665,400 29,200
7l 609,100
=S 85,500
01 XIS A =22 & 694,600 665,400 29,200
OMASE & ALRISXAE DS WA 694,600
Il 609, 100
< 85,500
ATHMOIA X FEXIRAS (S A EXIH) 694,4%6 1,160,745 26,249
403 AXIEHMSA=Z01d 694,496 1,160,745 N466,249
01 AXISHHA=2 22X 694,496 1,160,745 A466,249
OATHAEU U X = XIH AL 694,496
ATHMENU X S=SSXAMS (ZHEEXH) 1,389,970 2,602,975 A1,213,005
403 TR M SAH=01H 1,389,970 2,602,975 A1,213,005
01 AXISHHA=2EE 1,389,970 2,602,975 A1,213,006
OXMTHHNU X S=EX2A 1,389,970
oI X KH22tel 8,253,423 16,160,225 27,906,802
= 7,882,647
< 370,776
s0E DISH9 (PGAEMEYa B2 (20) 600,000 800,000 200,000
= 600,000
403 AXIEHMSAH=0l 600,000 800,000 A.200,000
= 600,000
01 AXISHHA=2 2 600,000 800,000 A.200,000
Os0E OI=H? PGAE N 2E5AtY 600,000
= 600,000
225 iUX =2 - 2| =4 5,000 4,000 1,000
202 04| 5,000 4,000 1,000
01 2L AL 5,000 4,000 1,000
o2& ollXael =8 5,000
LPGEI| AMEIt7 AIEIHAA(Z2 1) 372,352 342,225 30,127
= 286,425
= 85,927
403 X SHHMSAH=01H 372,352 342,225 30,127
= 286,425
== 85,927
01 XM= 2L 372,352 342,225 30,127
OLPGE | AtSIt=E AIEHE AL 372,352
= 286,425
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2A:

X XH -
o=

(UIIEPNPSEST,

HIUX MHSA(AMY - SAISLUEX/HIE XL RO

SRl WXl Araizel EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 85,927
S - HH? SH2 LPGHIZY S AI(21) 7,276,071 0 7,276,071
= 6,996,222
= 279,849
403 TtXIMSAH=01H 7,276,071 0 7,276,071
= 6,996,222
=S 279,849
01 XIS A =22 & 7,276,071 0 7,276,071
S - HET LPaHi 21 =AY 7,276,071
= 6,996,222
< 279,849
SINSA B2 54,666,380 64,444,240 N\9,777,860
= 46,058,000
= 8,608,380
HII0IEX B2 XA (21) 759,200 976,640 A217,440
= 584,000
= 175,200
403 TR SHMSAH=01H 759,200 976,640 A217,440
= 584,000
=S 175,200
01 XM= EXE 759,200 976,640 A217,440
O&II0IER B2 X 759,200
= 584,000
[ 175,200
IS 700 NJA(=1) 53,787,040 63,267,000 9,479,960
= 45,384,000
= 8,403,040
403 AXIEHHSAH=201H 53,787,040 63,267,000 29,479,960
= 45,384,000
= 8,403,040
01 AXISHHA=2E XL 53,787,040 63,267,000 9,479,960
OISt F0H X 53,787,040
= 45,384,000
== 8,403,040
EAXSA B8 FA 3,140 3,000 140
202 048l 3,140 3,000 140
01 2L AL 3,140 3,000 140
OzFANSI 22 R 3,140
S HHEIIA M2 AI(Z21) 117,000 52,000 65,000
= 90,000
= 27,000
403 THXISMSAH=01H 117,000 52,000 65,000
= 90,000
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A HUXIE =

A WX AYSH(AY - SAINLLUUXI/HIHKI R XHZONE)
el HgFNSI 22 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 27,000
01 AXISHHA= 2L 117,000 52,000 65,000
O&JI=2I| 20 X 117,000
= 90,000
= 27,000
J=HS Y =AU (2 /a2 4,587,357 9,301,776 A4,714,419
Jl 2,437,721
< 2,149,630
Jl=det tis = 3,979,630 6,840,014 A\2,860,384
Il 1,830,000
= 2,149,630
St=J|=HetARR K& 1,277,963 1,453,514 175,551
306 E¢= 1,277,963 1,453,514 A175,551
01 £g= 1,277,963 1,453,514 A175,551
Ogt=J)|=dsA7d 28 & 1,277,963
Jl=dsiis 88 =X 5,000 4,000 1,000
202 04l 5,000 4,000 1,000
01 2LHoIH 5,000 4,000 1,000
OJ|=dald e 5,000
=201 FHAAS - X X&(=12) 330,000 560,000 /230,000
) 330,000
403 AXIEHHSAH=0lA 330,000 560,000 230,000
Il 330,000
01 AXISHA=2 2 330,000 560,000 230,000
OJI=RJ| HSAS - NE N 330,000
Jl 330,000
JlE=Hst e SEHHE HE(=1) 1,666,667 3,300,000 21,633,333
Jl 1,000,000
= 666,667
403 AXIEHMSAH=201H 1,666,667 3,300,000 1,633,333
Jl 1,000,000
= 666,667
02 SI12S0ItH et =& 2 €A I 1,666,667 3,300,000 A1,633,333
OJI=H3 g sade g 1,666,667
Jl 1,000,000
=S 666,667
EASE NHH 2 X&(21) 700,000 500,000 200,000
Jl 500,000
& 200,000
308 AXIHSOIA 400,000 400,000 0
Jl 200,000
= 200,000
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SV [EVEEln
Ha: J|SHSIIM S (SY/HBSA)
0

=

Chel: JI=Hs e =& (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
18 SIS0t 4 A AS A 400,000 400,000 0
OUASHUNIE SAZE NAHE 2
A& 400,000
Il 200,000
< 200,000
403 AXIEHHSAH=201H 300,000 100,000 200,000
Il 300,000
01 AXISHHA= 2L 300,000 100,000 200,000
OJI=XNAH SASE N2dH 28 N 300,000
Jl 300,000
Jl=deNE & SUAEXH 335,000 2,461,762 N2,126,762
Jl 335,000
EAZOIEN 22 (21) 274,000 254,762 19,238
Jl 274,000
308 AXIMSOIA 274,000 254,762 19,238
) 274,000
01 AXEHN B2 LS 274,000 254,762 19,238
OBAHOIERN 29 274,000
Jl 274,000
NESXt S$HAHOIER 22 (21) 61,000 47,000 14,000
7l 61,000
308 AXIHSOIA 61,000 47,000 14,000
) 61,000
01 XN BELES 61,000 47,000 14,000
OXSK EFAZOIEH 29 61,000
Jl 61,000
SAILA 2ie| QlEet f= 212,727 0 212,727
Il 212,727
SEHAH SASELH NJ(=12) 212,727 0 212,721
Il 212,727
403 MR SHHMSAH=01H 272,727 0 212,727
Il 212,727
01 XISHH A =22 272,727 0 212,727
O24atA Z=4H| X 212,727
Jl er2, rer
(|):1||:‘|HII Aot (MY - SAIIGHNUX/ASGRE - 1 4,000 4,000 0
2
O XIICT Jlgtxd 4,000 4,000 0
Ol alatg =& 4,000 4,000 0
202 048l 4,000 4,000 0
01 2L AL 4,000 4,000 0
Ol Aot R 4,000
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S RV PNPSESHT,

¥ SN2 IIigy & HEA ISHAH A= - SAIL LUK/ L X0 )

e F=AEe 25 e (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
ZENRO| JMREtY & OHE A IGHIH PHF(MY - B4 3,000 0 3,000

IS0 KT/ Ol A KIS XH2 R
2SS a8 HY 3,000 0 3,000
S g =a 3,000 0 3,000
202 04l 3,000 0 3,000
01 SLHoIH 3,000 0 3,000
oZ=1Hd ge=a 3,000
A 2SZHI(UXIZ ) (OIEHIIE) 131,362 133,139 A1,777
el 2E| 85,948 84,386 1,562
ATHANH X &AIZE 29 85,948 84,386 1,562
101 ©1AH| 85,948 84,386 1,562
03 SR (RIH )22 U2+ 85,948 84,386 1,562
OXTHHOIHKIE Al 2 S22 Ql2H| 85,948
OJlZ=s 55,936
-11,1288 27,652
-1328 28,284
(OFSI=tt=) 4,662
-11,1282 2,305
1328 2,357
Ouxtras& ¢ 2,549
-1, 12532 1,266
1323 1,283
OAlIRAZ 25 9,526
11,1252 4,714
-1328 4,812
Og&E=Itdl 5,59
-11,1282 2,766
1328 2,829
Oa4l 3,360
OuEH| 2,400
OJ&E=g 1,920
=34 45,414 48,753 23,339
FA29 J1=23l 45,414 48,753 23,339
201 er23 | 31,038 34,719 23,681
01 At2teltl 31,038 34,719 A\3,681
SEA2E AIR2ell 31,038
202 04l 9,576 9,234 342
01 =LHOHI 9,576 9,234 342
SFAE2E U 9,576
203 =4l 4,800 4,800
04 FAE2EERFAH 4,800 4,800
©302! Olat 4,800
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SA: XIS =Dt
M WRS(HUXIZE2D) (M - SAI|
=l WRAAXE

ENVEPAVIVTEDNE NPl =)

2 - IE!

SA - B - SA(SH) - MRA - BES ol &t e HIDSZ
ﬁf%ﬁgwuxl FED) (& - SAILLHE X/ HIE KL 5,700,000 6,370,000 A670,000
WA XIE 5,700,000 6,370,000 A670,000
NSETHEAIEH S8 29 5,700,000 6,370,000 A670,000
701 JIErRIHSHES 5,700,000 6,370,000 670,000
01 It AN ES 5,700,000 6,370,000 670,000

OXIAXAAEZAN EE3H 24 5,700,000

- 369 -




0248 20ila XNISNHZALMEE2/H A

A HUXIE =

A WX AYSH(AY - SAINLLUUXI/HIHKI R KON
CHel: ATHAOIAT e 2 B2 (KARANEMSEEH) (crel: &gl
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Ol X1 & 24 4,382,200 5,520,000 1,137,800
g)ﬂl:iIl AAFH (MY - SAINSH UK/ O X L X202 3,323,909 2,721,792 602,117
ATHYOIUX e & 2S(RANATHAILHMSESIA) 12,200 14,700 22,500
X2 ws, 82, dAt =8 12,200 14,700 A2,500
201 el 12,200 14,700 22,500
01 At2teltl 12,200 14,700 A2,500
ollXI 2 W=, 82, A =8 12,200
AU X tR2tel (RS AEMSESIH) 3,311,709 2,707,092 604,617
MASE 08 O3 JIALEAL(EOINE) B2 =& 21,600 25,200 23,600
403 MR HHMSAHE01H 21,600 25,200 /3,600
01 MXIHHA 22 21,600 25,200 A3,600
OMASE 18 It JtAANE 22 21,600
TADEA 22X SE£AHl K& 1,638,049 1,431,372 206,677
403 AXIEHMSAH=201H 1,638,049 1,431,372 206,677
01 AXIEHM A= 2 £ 1,638,049 1,431,372 206,677
OZAIDIA ALIXS sS4l A 1,638,049
SO0IE PeASE M AMEEXIHI X2 1,600,000 1,200,000 400,000
403 AXIEHHSAH=0l 1,600,000 1,200,000 400,000
01 XM= 2L 1,600,000 1,200,000 400,000
OsHE (PGS MY AIZLRIdl X3 1,600,000
SIIAE e X 23,520 23,520
403 MR HHMSAHE01H 23,520 23,520
01 A= 2L 23,520 23,520
ONASE ==8IIAME e 23,520
CADA BSHIE UEEY = 28,540 27,000 1,540
207 ARl 28,540 27,000 1,540
01 A S| 28,540 27,000 1,540
OZADIIA SEHIE MEEY 28,540
(():HI;‘L)II Aot (MY - SAIGROUA/AHAES - 1 126,100 119,200 6,900
2
I XICT DIt (KA XRAIZMSESIA) 126,100 119,200 6,900
HUX M&E 4 10,100 11,200 A1,100
201 =3 10,100 11,200 A1,100
01 At2telt] 10,100 11,200 A1,100
ONIUXl aldH Wx, EL =& 10,100
2 HIIM=S A= 116,000 108,000 8,000
308 AHXIEMSOIH 116,000 108,000 8,000
18 SIS0t oA AS A 116,000 108,000 8,000
Oy HIIHN=SS At = 116,000
FAE FERS TIRAA =AY - SAILLUEXI /ol 872,800 810,000 62,800

>0l

LX)
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A OILXIE 21t
A Zah FEHXS NFHA RS - SAIIS L0 X /0L K LX)
TPl RIGHRHE! M U 2rat =BIXIS XIRAN (XISIXHRIAIL MISESIH) (619 =)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
KISHAHR Y & Zah FHIS XA (RIS THAIE 872,800 810,000 62,800
NS E3IH)
2o 2 FHIS SEHEAE 687,800 390,000 297,800
403 MR HHMSAHE01H 687,800 390,000 297,800
01 AXISHHA 22 % 687,800 390,000 297,800
O A FEHXY SFIHLAME X2 687,800
OIOUISAH Mgt FTHE SLHAA AIE ALY 180,000 250,000 70,000
403 AXIEHHSAH=201d 180,000 250,000 70,000
01 AXISHA=2E2 X 180,000 250,000 A70,000
ONtOUISA Mt 2z =Uda Alg 180,000
S Y =4 5,000 5,000
201 el 5,000 5,000
01 At2telt] 5,000 5,000
OZSXH W, AL &2, W8 =4 5,000
Gll=l=INQe =11 pAv |=ll=]D) 59,391 65,008 Ab,617
BB (XIS TR AIE NS ESIAH) 59,391 65,008 Nb,617
oligisl 59,391 65,008 N5,617
801 GBI 59,391 65,008 N5,617
01 Letoldlbl 59,391 65,008 Ab,617
@G| 59,391
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